Soustraction (B)

Calculez la différence.

9525 9293 604 67 2607 6802 307 17 7 63
-7332 - 26 - 413 -1 - 97 -5 — 47 — 9 — 5 —_ 3
1950 1066 45 5653 3594 44 3218 74107 5941
- 63 — 58 — 4 — 59 — 68 — 7 — 14 — 1 — 5 —_622
606 3 922 35250  RH22 778 49 5701 36 9522
— 58 -3 —82 —_ 72 — 48 —-_ 19 —_44 — 365 —_35 —_850
219 835 385 7414 47 97 76 1893 9663  T112
-3 - 18 -2 — 8 -4 - 4 - 36 —_81 —_ 9 —1227
2255 20 437 89 67 62 339 354 2405 95
-9 — 3 =365 —_ 50 —_ 60 —_5H56 — 241 -9 — 43 —_ 21
62 6477 2777 5230 9 985 7385 65 1207 1817

- 19 —-1206 —_ 7 — 34 —_ 2 —_ 36 —_56¢ — 1 —_196 —_164
421 3185 62 7048 739 180 8605 56 9551 b14
-6 -9 - 49 -0 - 5 — 7 —_ 4 — 5 — 7 —_ 65
730 36 4212 8340 1177 1552 489 1646 9 6935
- 1 — 7 —12556 —-7862 —_ 5 — 26 —_ 8 —_ 72 — 5 —_706
5003 5280 9612 58 5590 843 54 308 1901 786
-2930 —_ 5% — 7 — 1 — 45 -2 - 7 — 1 — 8 —_ 9
70 9 996 53 6847 246 7511 23 981 6711

- 27 - 8 —_ 2 — 6 —5352 —_42 —_ 15 —_ 4 — 325 —_955
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Soustraction (B) Solutions

Calculez la différence.

9525 9293 604 67 2607 6802
-7332 —_ 26 — 413 — 1 — 97 —_ 5
2193 9207 191 66 2510 6797
1950 1066 45 5653 3594 44
— 63 — 38 — 4 — 59 — 68 —_ 7
1887 1008 41 5594 3526 37
606 3 922 35250  RH22 778

— 8 -3 — 882 — 72 —_ 48 —_19
548 0 40 3453 8474 699
219 835 385 7414 47 97
-3 — 18 - 2 — 80 -4 —_ 4
146 817 383 7334 43 93
2255 20 437 89 67 62
-9 — 3 — 305 —_50 —_60 —_ 56
2246 22 72 35 7 §
62 6477 2777 5230 9 985

- 19 —-1206 — 7 — 34 — 2 —_ 36
43 5272 2770 5196 7 949
421 3185 62 7048 739 180

- 6 -9 — 49 7010 -5 —_ 7
415 3176 13 38 734 173
730 36 4212 8340 1177 1552

— 1 — 7 —12556 —7862 —_ 5 —_276
729 29 2957 48 1172 1276
5003 5280 9612 58 5590 843
-2930 —_ 56 — 7 — 1 —_ 45 —_ 2
2073 95224 9605 57 5545 841
70 9 996 53 6847 246

- 27 — 8 —_ 2 — 6 —5352 —_ 42
43 1 994 47 1495 204

307 17 7 63
4470 — 9 — 5 — 3
260 8 72 60
3218 74107 5941
4 — 1 — 5 —_622
3204 6 4102 5319
49 5701 36 9522
4 — 365 —_ 35 —_850

5 5336 I 8672

76 1893 9663 7112
6 — 81 — 9 —1227
40 1812 9654  5H88H
339 354 2405 95
241 — 9 — 43 —_ 21
98 345 2362 74
7385 65 1207 1817
567 — 1 —_ 196 —_164
6818 64 1011 1653
8605 56 9551 b14
4 — 5 — 7T —_ 65
8601 51 9544 449
489 1646 9 6935
8§ —_ 712 —_ 5 —_706
481 1574 4 6229
54 308 1901 786

7 — 1 -8 — 9

47 307 1893 7
7511 23 981 6711
5 — 4 — 325 —_955
7496 19 656 5756
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